T

El\’([_\\

fhZe (AR01)

I=E7 TN
TH4 | R6FET /MaBlm g - 2 ERGRLE (2) HEX S TR - SR
W TR THXSy HERGR
THX 5y - AR - R - A Biks HLAZ ¥ (mifa)) e (4m) sl e
HERHR
= 1
EE T
= 1
A L
= 1
el TR R, BT ERRLAA ONR
L), il TR B (R )
m3 90
R B GRS EAIR Y L&)
m3 53
RS T
= 1
R RS it e 2. 5mAi
m3 3
HEARRE T fE CHEE 2. 5mPL_E4. OmA
m3 112
HERE T
= 1
E¥+T
= 1
PRAE D (HEHI) B
m3 111

=N

i




T

=Y

RfEZR (AN01)

H

T=HE4 | Reflit /IMARBEIAR - \% ERERTE (2) #H XSy TE HHTRY - O
W TR THEXSy HERGR
THXSy - THE - Rl - ) Biks HLAZ ¥ (mifa)) R (4D KB e

HRR L TE b
m3 14
FEEIE
m2 36
AT T HERE T (RS BAT)
= 1
) A ke PEREY) ) & 1m& i & 2mA T, AA
av) ) =A% 1 18-8-40 (FiF)
m3 32
ST HERE T
= 1
1 59 L
= 1
2 FIREE L
= 1
1 SRR
= 1
2 IR T
= 1
e &Y L
= 1
EELT
= 1
L D U




T ERTER (401)

T4 | R6fEL /MaBEINiR - 2 ER%ETE (2) (1 HFERX Sy TH TR - o
W PRI THEX 5y TH R
THFXSy - TFE - FER - A5 JEA% BT g (FilE) HE (5E) Bk T 2

HEL R w
m3 6
LT E
m2 16
LA KT
= 1
B FT 7K PN : 800, PN &2 600, 2/ - MEA& 18-
15 LA 8-25 (B )
m 38
BT K PRI 1800, P 1900, 27 )~ Mk : 18-
15 LA 8-25 (= H7)
m 3
T T
= 1
TS G L T
= 1
27— NEUE UL B TS K 5y A TE )
m3 1
rEan
= 1
RiEEE T
= 1
BT EEAEE B
AH 10

=N

i



T

= -(<2§

\I\\

fhZe (AR01)

TH4 | R6FET /MaBlm g - 2 ERGRLE (2) FHEN Sy
W TR THEXSy
THX 5y - AR - R - A Bikk HLAZ ¥ (mifa)) e (4m) e

BIES

= 1
B T
= 1
AR REeAE T
= 1
A AN VA BT=F N A7 B Gp—Cp-2B ¥R3E L,
B T B 20mEA - 100m=eii, HhARER
m 20
[EREMIE: -
= 1
B ER
= 1
M@kt (G L)
= 1
il T
= 1
Bl E
= 1
TRl
= 1
— A B
= 1
4 T




T ERTER (401)

TH4 | R6FET /MaBlm g - 2 ERGRLE (2) HEX S TR - SR
W TR THEXSy BIES
THX 5y - AR - R - A Biks HLAZ ¥ (mifa)) e (4m) sl e
T EAfliks
= 1
THEBIRE K O 5 T e B
= 1
THEGF
= 1

=N

i



